
Nombre: Clave De RespuestasEncontrando múltiplos

Matemáticas www.CommonCoreSheets.es
1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

R e s p u e s t a s

1. B

2. A

3. D

4. C

5. C

6. D

7. C

8. D

9. D

10. B

11. B

12. B

13. C

14. B

15. D

Resuelve cada problema.

1) ¿Qué opción es un
múltiplo de 10

A. 167

B. 190

C. 137

D. 138

2) ¿Qué opción es un
múltiplo de 6

A. 66

B. 75

C. 118

D. 124

3) ¿Qué opción es un
múltiplo de 5

A. 96

B. 59

C. 99

D. 75

4) ¿Qué opción es un
múltiplo de 2

A. 37

B. 29

C. 38

D. 41

5) ¿Qué opción es un
múltiplo de 6

A. 112

B. 80

C. 114

D. 85

6) ¿Qué opción es un
múltiplo de 10

A. 119

B. 161

C. 133

D. 150

7) ¿Qué opción es un
múltiplo de 9

A. 146

B. 150

C. 171

D. 129

8) ¿Qué opción es un
múltiplo de 3

A. 34

B. 56

C. 44

D. 60

9) ¿Qué opción es un
múltiplo de 6

A. 122

B. 95

C. 70

D. 84

10) ¿Qué opción es un
múltiplo de 2

A. 33

B. 22

C. 31

D. 37

11) ¿Qué opción es un
múltiplo de 5

A. 58

B. 65

C. 56

D. 91

12) ¿Qué opción es un
múltiplo de 9

A. 105

B. 162

C. 172

D. 143

13) ¿Qué opción es un
múltiplo de 2

A. 33

B. 29

C. 30

D. 39

14) ¿Qué opción es un
múltiplo de 5

A. 67

B. 95

C. 81

D. 91

15) ¿Qué opción es un
múltiplo de 3

A. 53

B. 49

C. 35

D. 48
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